


Figure 5.6 (company DB, textbook)
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Exercise 1  - Translate the ER to relational form



Exercise 1

STORE (Phone, Address)

CUSTOMER (Cust#, Name, Address, Fav_Store)
FK: Fav_Store references STORE (Phone)

ACCOUNT (Acct#, Balance, Used_Store)
FK: Used_Store references Store (Phone), Not NULL

CUST_ACCT (Cust#, Acct#)
FK: Cust# references Customer(Cust#) NOT NULL
FK: Acct# references Account (acct#) NOT NULL



Exercise 2 - Translate the ER to relational form



Exercise 2

PROJ_EMP_Participation (SSN, Pname, Pnumber, Time)
FK: SSN references Employee(SSN)
FK: (Pname, Pnumber) references Project (Pname, Pnumber)

PROJECT (Pname, Pnumber)

DEPARTMENT (Name, Phone, Location, Manager, Mdate)
FK: Manager references Employee (SSN)

EMPLOYEE (SSN, Birthdate, Name, Department)
FK: Department references Department (Name) NOT NULL

Dependent (SSN, Name, Birthdate, Relation)
FK: SSN references Employee (SSN) NOT NULL



Exercise 3: Translate this entity to relational form



Exercise 3: Translate this entity to relational form

Person(SSN, family_name, given_name, weight, birthdate)

Hobbies(SSN, Hobby_Name)

* SSN + Hobby_Name should be unique (primary key of the relation)



Exercise 4: mapping subclasses

Use (a) ER-mapping, (b) OO-mapping, (c) 1-table-mapping

Are there aspects of the ER design that can't be mapped?



Exercise 4: mapping subclasses

Use (a) ER-mapping, (b) OO-mapping, (c) 1-table-mapping

Are there aspects of the ER design that can't be mapped?

ER Style

STUDENT (Sid, Name, Address)
Undergrad (Sid, degree)
Masters (Sid, major)
Research(Sid, thesis)

Note: Sid in the subclasses reference Student.Sid

Total participation/disjoint, both possible 
(i.e., records can be stored to satisfy this condition)
But “enforcing” them are difficult without using 
database triggers or other available means at the database level

Overlapping possible …

STUDENT (Sid, name, address, degree, major, thesis, stud_type)

Disjoint possible, - as only one Sid entry per table would be allowed.
Total participation possible – make stud_type Not NULL and one of the subclass attribute should have a value

Overlapping possible – make Sid and Stud_Type a combined key


